18

M8002

{Mov HOCBE
{zrsT D3
[SET
{mov KO
{mov H5
{Mov H30
{mov H32
[< 20 D20 {ADD D21 D1Z0

.
[Inc

D8120

D11

M8161

D50

DO

ENQ

D1

D2

D21

Z0




M8000

49— | [asc1 D21 D621 K2
[Rs DO K12 D100Z2 K10
ENQ
66(> K2M10 KO } {mov KO D50
=0
=1
[RST Co
M8011 M11 M12 M14 M10 M13 M15 co
78— g FF FF FF HF PID% | e D50
=0
=1
K5
(co
[= D50 K3 {mov KO D50
=0 =0
=1 =1
M8000
107— | {mov D50 K1M20
=0
=1
113= D50 K1 } [PLS M8
=0
=1
120 = D50 K2 } [PLF M8
=0




127

134

141

[= D50 K3 [PLS
=0
=1
[= D50 K4 [PLF
=0
=1
M10
0 {SET
M11
M {mov KO
M12

M9

z2




153—M {Mov H46

{mov H41

{mov H30

{mov H30

[RST

-

{Mov K6

{mov K2

{Mov KO
M10

193—N {mov H32
M11

200—N {mov H34
M12

207—M {mov H30

D3

D4

D5

D6

20

D20

Z1

D21

D7

D7

D7




214

{Mov H36
{mov H46
{mov H30
[RST
{mov K4
{mov KO
[RST
-
{Mov K10

D3

D4

D5

Z0

D20

Z1

D21

Z2




252—M {Mov H37
{mov H30
{mov H30
[RST
{mov K4
{mov KO
[RST
{Mov K20
M14
290—M [SET
M13
N {mov KO
M15
IN

PI1D

D3

D4

D5

Z0

D20

Z1

D21

Z2

M2

z2




302

S =
=
T w

{Mov H38

{mov H37

{mov H30
[asc1 D151 D6

[RST

-

{Mov K8

{mov K4

D3

D4

D5

K4

20

D20

Z1

D21




342

M15

N {Mov H44
PID
{mov H38
{mov H30
MO
| | [Asc k20 D6
OFF  /
ON
MO
e [Ascl k21 D6
OFF  /
ON
[RST
{mov K8
{mov K4

{RST

D3

D4

D5

K4

K4

20

D20

Z1

D21




394

S =
S
=i

{Mov H45

{mov H44

{mov H30
[asc1 D150 D6

[RST

-

{Mov K8

{mov K4

D3

D4

D5

K4

20

D20

Z1

D21




434

L=
=5

[SET

M9
1]}
v

_=
==
=5

.
[RsT

.
[RsT

M11

i

M12

VI

_=
=B
=

M13
1]}
v

M15

454

vl
PID

M8123
|

.
[RsT

M8122

M1

M2

M8123

]

]




457

[HEX D113
I
{FLT
[HEX D123
I
{FLT
-
{Mov
-
[FLT
[DEDIV D161
[DEDIV D155

D155

D155

D161

D161

K100

D157

D159

D159

K4

D155

K4

D161

D157

D159

D502

D500

-
[END




